A & 0l & AF S E M A
20113 20lah LB AL IIEFSE3H S A ~ S A
S Al Dt
SADIBtEA
SANAHEEZ(AZ)NA (ctel: &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
Al 2t 9,095,786 7,423,165 1,672,621
= 100,000
& 1,000,000
& 500,000
Al 7,495,786
[Jlgtx o 1,838,383 1,550,358 288,025
SANAHEEZ(AZ2)ME 1,796,983 1,514,358 282,625
AxH AXEZFD FI(S3-403) S2HESA 1,507,408 0 1,507,408
401 AM&HIL 2048 1,507,408 0 1,507,408
01 Al&H| 1,502,000 0 1,502,000
OAx=x1W §(53-403) ==ZIH& (L=583m B=12m
) 1,502,000
> & X 04 & Bl 402,000,000& *14! 402,000
> Al & HI 1,100,000, 0003 * 14 1,100,000
03 Al£ =204l 5,408 0 5,408
OAl€ 20l 1,502,000,000& *0.36/100 5,408
EYH =Y2I(£42-6020) T2IHE S A 251,575 0 251,575
401 A &HIL 204 251,575 0 251,575
01 Al&H| 250,000 0 250,000
Osdgel(42-2060) &2 & (L=165m B=8m) 250,000
> & X 04 I 250,000, 000& » 14 250,000
03 AIZ=20bl 1,575 0 1,575
OAl£ 20l 250,000,000+0.63/100 1,575
ASHY F(22-428) T2IHE S A 38,000 0 38,000
401 A EHI L2048 38,000 0 38,000
01 Al&H| 38,000 0 38,000
ORs8Y & (A2-428) ==ZIHA (L=210m B=8m) 38,000
> &l AlE A HI 38,000,000& *14! 38,000
[EFAIE A XA E2H (DIBTAIE AR L 29 SE3H) 36,000 36,000 0
JIBtAIE EXIANS 29 285 285 0
201 LetIH| 285 285 0
01 AFR22lH] 75 75 0
O1 git=ZH| 75
DIIBIAIERE = DX A 75,0003 * 1BOX 75
02 ZE=2ZHl 210 210 0
o1 3322 % HA 210
DIIBANERE=RERS
1, 7503 1021 % 123] 210
ol gl bl 35,715 35,715 0
801 0ildlYl 35,715 35,715 0
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Ha: CADIEtES
SRl JIBAIE A XIAE2H (DIBAIL AR & 29 SEEH) (ctel &
- _ _ boE ==
2N -3 - c2(3H) - NEME - HES Ol & oK Oﬁ/TFOH Hns
01 olBlyl 35,715 35,715 0
ooyl bl 35,715,000 * 14 35,715
A2 FO=JAAS 5,400 0 5,400
S FUSJIALY 5,400 0 5,400
202 04l 5,400 0 5,400
01 =2WAHI 5,400 0 5,400
Os FUSAMY N2 (A & 25)
20,0002 *301* 152 «6& 5,400
S243E 864,436 0 864,436
KNe|HEAIAE 25 2 77,370 0 77,370
NNe|HEAIAE 25 2 77,370 0 77,370
201 LBt H| 74,970 0 74,970
01 At=2teltl 6,900 0 6,900
O1 LEt=EH| 2,000
DACIZL2UOIE E2E(E2H) A2
2,000,000 * 14 2,000
O3 29+ 4,900
DEZIIBIAE S A &AL +Y
70,000& 1021 %23] 1,400
DIl=EIIIRJAS AN
250,000& x7021x23| 3,500
02 =323l 68,070 0 68,070
O3 A& & HIsAIYI 68,070
DRI EBAAER E 4|
5,672,500& 12& 68,070
202 04t 2,400 0 2,400
01 =20 HI 2,400 0 2,400
O KelHBAAHAD X
20,000& 10 x12& 2,400
SHS2UAEE SEAH 2= 369,000 0 369,000
INS2UAHEE SEMAH 2= 369,000 0 369,000
405 KHAHFE S| 369,000 0 369,000
01 XML E2EF S| 369,000 0 369,000
O=IB2AHEE SEMAH U =
369,000,000 =14 369,000
Xel&dE OOl saist 400,000 0 400,000
=XXNEE =3H = 400,000 0 400,000
401 AlEHIZLL20H] 50,000 0 50,000
01 Al&HI 50,000 0 50,000
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O1/1,000 =XIXEE =Al==F
50,000, 000& 14 50,000
403 AXIHHSA=201H 350,000 0 350,000
02 BII2SHHSCHA AL I 350,000 0 350,000
O1/1,000 +XNEE +BH=
350,000,000 * 14| 350,000
SI=EXNZEANAE 25 2 18,066 0 18,066
SI=EXNEZEEANAY 25 29 8,076 0 8,076
201 et 5,676 0 5,676
02 3323l 5,676 0 5,676
O3 AIE ZHIS X 5,676
DS aEXNEEAAE R E I
473,000& 123 5,676
202 O4dl 2,400 0 2,400
01 SUWHYI 2,400 0 2,400
OB RENHRZA ALY EX
20,000 10+ 122 2,400
EXNCIESAHEEA Y5 9,990 0 9,990
201 ZetE2EHl 9,990 0 9,990
01 AtR 22l 9,600 0 9,600
O1 L= 9,600
DEXOIESHHINLSEX
4,000, 0002 14 4,000
PEXOISHHSNLIE 2B (IR,
°oIEJ| &) 2,000,000& =14 2,000
>EXOISHMONLTE TRIE C8, &
& 300,000 »2CH*63] 3,600
02 23223l 390 0 390
O1 2222 2 MAl 390
> EXIOISH SO LSS SRS
390,000& 1¢! 390
S AR 4,874,465 2,245,519 2,628,946
& 1,000,000
= 500,000
Al 3,374,465
ZI0IESEZAHEA S (ZIN0IEEZANAEAILSUXE 1,040,000 1,040,000 0
SANSZE5I)
ZII0IEE SAIHEAE(UX) 24 1,040,000 1,040,000 0
401 Al&HI YL SO 1,040,000 1,040,000 0
01 Al&H| 1,040,000 1,040,000 0
OFIIDIEE T AIHE AL
1,040,000,000& * 14! 1,040,000
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=°Hel ADE SEAY (el &)

_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il i~ o bRz
LES SHAY 3,812,600 0 3,812,600
2 1,000,000
= 500,000
Al 2,312,600
29 ASS SHAY 3,812,600 0 3,812,600
z 1,000,000
= 500,000
Al 2,312,600
401 AlZHIL 2O 3,812,600 0 3,812,600
= 1,000,000
= 500,000
Al 2,312,600
01 Al 3,800,000 0 3,800,000
OS2 ATS SHAMY JIPAL U HS2H
e 3,800,000
> Al &t 3,500,000,00024 #14} 3,500,000
=l 940,000
= 470,000
Al 2,090,000
DEANEALZE o AN
300,000, 00021 * 14! 300,000
= 60,000
= 30,000
Al 210,000
03 Al&=CH| 12,600 0 12,600
OA& = hH] 3,500,000,00021+0.36/100 12,600
R =DAEETE] 18,000 22,150 A4,150
EE=BAEETE] 18,000 22,150 A4,150
201 Yer2 YY) 13,200 17,350 A4,150
01 A2l 13,200 15,600 A2,400
O1 Yer+gt) 13,200
PEUEXNYEHY SY+4E
330, 0002 *4024 13,200
202 Oit] 4,800 4,800 0
01 =2Uoibl 4,800 4,800 0
OBHENSIHZY N2
20,0002 %401 102 +6 2 4,800
SNBNSLS UYL 3,865 0 3,865
SNBARLS 2NPL 3,865 0 3,865
201 YBr2 ) 3,865 0 3,865
01 At 3,200 0 3,200
03 2g+g 3,200
PO DESNRL IR B 2L
100, 0002 *821 +43| 3,200
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oo SNSNREE RS (e @e
_ _ HE T
SN B SRA(SIH) - MBAY - BAS 0l &k 24 0l ot o ClImEE
02 BB 665 0 665
O1 B2RZ 2 MAl 665
P eHRZ(HNBNRLSES)
1,7502!* 190 Al CH <231 665
P E 391,100 993,200 £602, 100
2 100,000
Al 291,100
S E 352,400 952,400 600,000
=2 100,000
Al 252,400
SAE2 LY 352,400 952,400 600,000
=2 100,000
Al 252,400
202 01t 2,400 2,400 0
01 =UHoit| 2,400 2,400 0
02030 FEADIZHEESE =7
20,0002 * 102 128 2,400
207 1N 350,000 950,000 600,000
2 100,000
Al 250,000
01 RE o] 350,000 950,000 600,000
ORYZE M IS SEX A
250,000, 0002 *14! 250,000
OZAHEYBAIA(PIS) RS
100,000, 0002 * 14! 100,000
= 100,000
ENEEICET 38,700 40,800 A2,100
CNEEIEET 38,700 40,800 A2,100
201 Yereg| 28,700 30,800 A2,100
01 AL/t 28,300 30,400 A2,100
O1 YeragH| 13,600
>EAIZRIHE ARTBIDE  3,400,0009 43l 13,600
03 28+¢ 14,700
PEANESIRE W BHALAEH OIS A
= 10,0002 %2121 +75] 14,700
02 2=l 400 400 0
O1 B222 2 MAl 400
>R eSS 85l 400,0002 *13] 400
202 01t 10,000 10,000 0
01 =UHoit| 10,000 10,000 0
OZAHE L SANY P28
10,000,000 * 14} 10,000
WRES(SAID) 1,040,000 1,040,000 0




S ZAID
Y WRES(TAM)

&R WRHHXNS (&9 HM
SAN-ZH-SA(FA) - NFAY - BES (il & OH gl/liafﬁ Hlw &2
HEHN RIS 1,040,000 1,040,000 0
0N HEA L2 HES 1,040,000 1,040,000 0
701 JIEtSIHEES 1,040,000 1,040,000 0
01 JItalHNES 1,040,000 1,040,000 0
OZJIDIEHZAIHSANEUHRNELSASES A
1,040,000, 000 * 14 1,040,000
HE 2L ZHI(ZAID) 87,402 94,088 6,686
ol 2 44,742 51,180 6,438
el 2 A 44,742 51,180 16,438
101 el 44,742 46,930 N2,238
01 B 44,742 46,980 N2,238
OAte 2R+ 7,457 %2021%300A1 2+ 44,742
JlE2&Hl 42,660 42,908 A248
Jl=&Hl 42,660 42,908 N248
201 EHRHH| 21,760 18,328 3,432
01 AtR2teld] 16,560 13,128 3,432
O1 Let=2H] 13,200
>REAN2IE=EH 1,100,000 x12& 13,200
O5 =&H] 3,360
Dot 52 R 7,000 x2001 %23 122 3,360
02 3323l 5,200 5,200 0
O1 23322 % HMA 4,200
DUtRERZF 1,7502 %2002 x 128 4,200
O3 A& ZHl |l 1,000
> =ADI |X2tell 500, 000& »2CH 1,000
202 o4 11,600 17,120 A5,520
01 2o 11,600 17,120 A5,520
OJl2d R340 Hl(202) 11,600,000 * 14| 11,600
203 YR F=& 4,200 0 4,200
04 REN2IHFF=LH 4,200 0 4,200
OfM2ELRFEHI(2091) 350,000 x12& 4,200
405 KHAHE S 5,100 7,460 A2,360
01 ML ESSFFHSHI 5,100 7,460 A2,360
OPC 1,400, 000% *3CH 4,200
OS2I Xt 180, 000& *5H4 900




